
CGZ91-3N

CGZ91−1A  AEQ01−1N

Name und Spektralbereich
Rm 561_770 Ym 520_770
Gm 475_573 Cm 380_561
Bm 380_520 Mm 573_475

Ostwald Farben (o), YW=100
max (m) Buntwert, D65
in der Normfarbtafel (x, y)
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CGZ91−2A  AEQ01−2N

Name und Spektralbereich
Rm 561_770 Ym 520_770
Gm 475_573 Cm 380_561
Bm 380_520 Mm 573_475

Ostwald Farben (o), YW=100
max (m) Buntwert, D50
in der Normfarbtafel (x, y)
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CGZ91−3A  AEQ01−3N

Name und Spektralbereich
Rm 561_770 Ym 520_770
Gm 475_573 Cm 380_561
Bm 380_520 Mm 573_475

Ostwald Farben (o), YW=100
max (m) Buntwert, D65
in der Farbtafel (a1, b1)
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Xw=95,04, Yw=100,00, Zw=108,89
xw=0,3127 yw=0,3290
A1 = (a1 − a1,n) Y
B1 = (b1 − b1,n) Y
a1 = a20 [(x−0,171)/y]
b1 = b20 [z/y]
a20 = 1,  b20 = −0,4
mT1=1,000, bT1=0,171
n = D65
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CGZ91−4A  AEQ01−4N

Name und Spektralbereich
Rm 561_770 Ym 520_770
Gm 475_573 Cm 380_561
Bm 380_520 Mm 573_475

Ostwald Farben (o), YW=100
max (m) Buntwert, D50
in der Farbtafel (a1, b1)
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Xw=96,42, Yw=100,00, Zw=82,49
xw=0,3457 yw=0,3585
A1 = (a1 − a1,n) Y
B1 = (b1 − b1,n) Y
a1 = a20 [(x−0,171)/y]
b1 = b20 [z/y]
a20 = 1,  b20 = −0,4
mT1=1,000, bT1=0,171
n = D50

57

63

88 80

42

36

1119


